2 ! - -
Jo v+ 5)(3v Ddv = f(60” +13v — 5)dv = [6- 1o* +13. 10% — 50]d = 23 4 13,2 _5
13,2
= (128 4104 - 20) — 0 = 212 v]o

B 32 14 = [2¢® + 4si
Jo(2e® + cosa:)dz—[2e +4s1n.1:5=(2es+4sin5)—(2e°+4sin0)=2e5+4sin5~2~29099

/4
33./ 1+c<;s Gde / cos20 s
cos? f 00520 o d9=/0 (sec’6 +1) dg

= "/4__ T
7[tan0+00 = (tanz+i’-)—(0+0)=l+§

. 3m/2
40 f:"/z sinz| dz = [ sinzdz + f:"/z (- sinz)dz = [— cos z]g + [cos m]”"/

=[1-(-D]+0- (-1 =2+1=3

; = = 3. Thus,
51. Letu-1+2a: sodu—-ﬁm dx. Whenz =0, w=1l;whenz=1u

613
f32*(1 +2r%)° de = [{u0(§du) = 1)

182

P

6_19) = & (1291 28 =35
=4@-1%= = ( )= %6

56. / —2—z—d_z—3)3 does not exist since f(z) = (—2;%3—)2 has an infinite discontinuity at z = 3.
5. Letu = —z2, sodu = —2zdz. Whenz = 0, u = 0; when £ = 1, u = —1. Thus,
g2 -1 wy -1 -

fize = da= [ er(~hdu) = —3[e¥]; = —3(e~ — ) = 31— 1/e).

R Letu= sinz, so du = cosxdx. Whenz = 0, u = 0; when = = %, u = 1. Thus,
*/2 o
I Fcosz sin(sinz)dz = fol sinudu = [- cosu]; = —(cos1—1)=1—cosl.
8. = _ 2

Letw = 2z. Then du = 2dz, so J; f(2z)dz = f: fu)(3du) = %f: f(u)du = 1(10) = 5.

®.Letu = 2% Then du = 2z dz, so [2 2(2?) dz = [ f(u) (4 du) = 1 IS flw)du=1(4)=2.

R letu=z4 Then du = dz, so

y=flx+c) y=f(x)
[+ ade = [ pay au = 272 @) o .
F
Tom the diagram, we see that the equality follows from the fact that

w
¢ are wranslating the graph of f, and the limits of i integration, by a
distance .

. y . 1 1 1 1 "
The area of R; is — s5tat-+-—
R,lsi+1and502+3+ +n<[ ~dt=ln.
0
y Thearea0f51s—andsol 1 1 "1
+2+ +——_—1>/ —dt=Inn.




